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You're reading a free preview pages 7 through 9 doesn't appear in this preview. You're reading a free preview page 16 to 33 doesn't appear in this preview. Business Administration MCQ (Multiple Choice) 1-Non-monetary benefits given to employees include (A) Bonus (B) Job enrichment (C) Pension (D) Stock options 2-An example of secondary strike is (A)
Listen or cat strikes (B) Token or protest strikes (C) Sympathy strikes (D) Tool-down or pen down hitting 3-What method of management training is not part of off the method job? (A) Simulation (B) Project assignment (C) Role-playing (D) Case study 4-watered capital means, the difference between (A) Long-term working capital and short-term working capital
(B) net labour and gross labour capital (C) the book value and the realizable value of assets (D) the market value and the book value of assets 5-As under the WTO the agreement allows TRIM (A) foreign investment on par with domestic investment (B) exclusive domestic marketing rights (C) reduction of domestic market (C) reduction of domestic market (C)
reduction of domestic market (C) reduction of domestic market (C) reduction of domestic market market (C) reduction of domestic market (C) reduction in domestic market (C) reduction in domestic market (C) reduction in domestic market tariff rates on marine products (D) None of the above 6-Technology to acquire materials and manufacture of goods only
as needed to satisfy customers orders called as (A) Just in time (B) Maintain levels of stocks (C) Buffer stock (D) Economic order Quantity 7-What is the participative performance assessment method? (A) Human Resource Accounting Method (B) Management by Objectives Method (C) Behaviorally Anchored Rating Method (D) 360 Degree Score 8-The main
symptom of undertrading is (A) Low inventory turnover ratio (B) High inventory turnover ratio (C) High current ratio (D) Highly efficient credit management 9-The World Trade Organization (WTO) began to work from (A) 1st January 1980 (B) 1st January 1975 (C) 1 : a January 1995 (D) 1st January 1990 10-Product positioning is an act of (A) distributing
through retailers (B) that distribute via wholesalers (C) which via the internet (D) occupies a distinct image in the customer's mind ANSWER: 1-((B), 2-(C), 3-(B), 4-(D), 5-(A), 6-A (A), 7-(B), 8-(C), 9-(C), 10-(D), Academia.edu no longer supports the Internet Explorer.To browse Academia.edu and the wider internet faster and more secure , please take a few
seconds to upgrade your browser. Academia.edu use cookies to customize content, tailor ads, and improve the user experience. By using our site, you agree to our collection of information through the use of cookies. To learn more, see our Privacy Policy.× MANDATORY QUESTION 2004 8. Type only the correct answer in the answer book. Don't tell me the
question. (1) The link between policy and public is: a) Policies try to deal with controversial issues and public administration are the means of implementing decisions. b) Politicians and administrators do not share a unique partnership. (c) Public administrators indulge in party politics. d) Administrators who have strong political convictions, they can not operate
a bearer of civil servants. (e) (e) of these 2. How is the role of public administration determined by the people or the government? Could it be a a) Civilization failure means degradation of public administration. b) Modern democracy can do this job well. (c) Moral conviction is crucial to its role. (d) social and economic development is more feasible than any
branch of government; (e) none of these 3. Human Relations is the study of the people in action that is: a) The people work in a team spirit or not. (b) social factors are equally important in addition to technical ones; c) The ignorance of the human aspect is at the risk of management d) Human dignity is inseparable from human relations. (e) none of these 4.
Management improvement is possible through systematic theory of: a) The investigator helps the decision maker to solve problems. b) Systematic theory identifies with operational research. c) The programming of defence problems is smooth. d) It investigates the future performance. e) None of these 5.The bureaucracy has certain characteristics that are: a)
It is hero or villain or form of social organization. b) It has pathological tendencies. c) It has a specialized structure of the nation. d) It is indispensable in modern country. (e) none of these 6. Bureaucracy is seen as perishable or otherwise: a) Bureaucracy is necessary and necessary evil. (b) the role of bureaucracy as a paria or savior; (c) bureaucracy is
suspected politically; d) If bureaucracy fails, it is accused as paria. (e) none of these 7; The nature of administrative leadership inspires confidence when it uses: a) Force and bargain to achieve goals. (b) Bases established satisfactorily (c) Leader must become the servant of the people d) Leader must possess professional ethics. (e) none of these 8.
Administrative accountability must be accompanied by: (a) if power is not abused. (b) the independence and impartiality of the Ombudsman; (c) if it takes home through the legislature. (d) it can be achieved through a responsible government; (e) none of these 9. Judicial control can achieve administrative accountability successfully if: a) the rule of law is
strictly observed. (b) The legal process should not be cumbersome. (c) the legal process should be simple and easily accessible; (d) administrative measures must be subject to judicial review; (e) none of these 10; Planning and its technologies are common to all human activities such as: a) The unity of the programme and the timeliness of the programme.
b) People following is necessary for successful plan. c) Planners require reliable data for success. d) Coordination is necessary in viable planning. (e) none of these 11; How can effective planning be made meaningful: (a) If it has management support b) Its objective must be clearly defined. c) Its feasibility standards mush show wisdom d) It provides
valuable learning experience. (e) none of these 12; Public Corporation is the innovation of the 20th century. The basic features are: a) Public Corporation is a corporation by courtesy b) It is created for special purposes. c) It is the result of government's entry into the business. Activities. It has a virtue of management. (e) none of these 13; Mechanistic theory
is the formal structure of organization. Its functions are: a) To draw up plan for large-scale companies b) It does not match reality. c) It is the result of the government's entry into business d) A human problem requires human solution. (e) none of these 14; The organization is the act of designing administrative structure. It requires: (a) the determination of the
necessary activities; (b) no engineering strategy to achieve objectives; (c) staff to deal with it; (d) the allocation of functions and responsibilities to the individual; (e) none of these 15; Centralisation and decentralisation are the problems associated with higher and lower levels of government. They can be solved by: a) the introduction of local bodies in the
country. (b) Resolving territorial and functional problems (c) Resolving jurisdictional disputes; (d) active determination of external factors between the two (e) none of these 16; Zero-base budgeting evaluates current and new activities and programs that solve: a) The government programs in detail. (b) the risks involved in decision-making and ranking
packages; (c) the organisational service programmes; (d) the fundamental development issues; (e) none of these 17; The civilian services of Pakistan have become a caste of themselves with public criticism such as: a) They are the legacy of British colonial rule b) They have lowered the quality of national life. (c) they have heightened corruption and
inefficiency; (d) they have become professionally incompetent; (e) none of these 18; Communication is a crucial part of management and felt: a) As the heart of management. (b) as this makes the administrative procedure smooth. c) Because it is the nerve center of administration. d) Because it is the blood of the organization. (e) none of these 19;
Coordination is the removal of conflicts from the organization by: a) Securing cooperation and teamwork b) Securing organizational goals c) Securing harmonious organization d) Removing overlapping and functional best in cross purposes. (e) none of these 20; Pakistan's public services can be made worthwhile if: a) Young men and women are recruited on
merit. (b) they are not used for political ulterior motives; c) they are educated in nationalist spirit and religious values d) they must be allocated equal opportunities for advancement; e) None of these __________________ The I you have always known, the I who is a stranger still. Page 2 Share thread: Facebook Twitter Google+ Friday, March 02, 2012 Royal
Queen of Literature Join Date: May 2005 Location: Forest of Fallen Stars Posts: 7,576 Thanks: 2,421 Thanked 15,828 Times in 5,001 Posts MANDATORY QUESTION 2011 (i) Public Administration Refers to: a) A Process (b) A Discipline (c) A Field of Study (d) All these (ii) The concept of separation between politics and public administration first
propounded by : (a) Aristotle (b) Woodrow Wilson (c) Karl Marx (d) Machiavelli (iii) The fourteen organizational principles were given by: a) Plato (b) Henri Fayol (c) Fredrick Taylor (d) Max Weber (iv) Author of the famous essay The Study of Administration was: a) Dwight Waldo b) Woodrow Wilson (c ) Fredrick Taylor (d) Margaret Thatcher (v) Range of
control means: (a) Tenure of a record (b) Geographical jurisdiction (c) Power to control other (d) Number of subordinates under a superior (vi) Job description intends to appoint an appropriate person in a job : (a) True (b) False (vii) Job specification defines the parameters of the job to be done: (a) True (b) False (viii) Correct job analysis is based on: (a) Job
description (b) Job specification (c) Both of these (d ) None of these (ix) Bureaucracy refers to: (a) Bureaucracy (b) Entire civil servants (c) A special set of structural arrangements (d) All these (x) The mnemonic POSDCORB for management was introduced by : a) James Mooney b) Adam Smith c) Luther Gulick (d) None of these (xi) The famous Hawthorne
experiments were carried out by : (a) Elton Mayo (b) Abraham H. Maslow (c) Mark Twain (d) None of these (xii) Hawthorne effect refers to increase in productivity due to: (a) Good physical work environment (b) Safe job (c) Presence of observers (d) None of these (xiii) Maslows highest needs in his hierarchy of needs were : (a) Love or belonging needs (b)
Self –actualization needs (c) Esteem needs (d) None of these (xiv) The average man in himself dislikes work (a) An assumption of theory X (b) Adoption of theory Y (c ) Adoption of the theory Z (d) None of these (xv) Spoils system refers to: (a) Management by objective (b) Public sector concept of staffing (c) Awarding jobs to political supporters (d) None of
these (xvi ) Deficit financing is : a) Excess revenue b) Excess expenditure c) Both of these d) None of these (xvii) Performance audit is used as a comparison between a) Actual expenditure and booked expenditure b) Collected revenue and potential revenue (c) Activities of an organisation with the assigned goals (d) None of these (xviii) A whistleblower in
an organization is a person: (a) Who reveals bad things about their department to the public (b) Who is a good singer (c) Who is assigned security duties (d) None of these (xix) The budget cycle is: a) The duration for which it applies (b) The process by which it must go (c) The time frame preparation for (d) None of these (xx) Group dynamics relates to : (a)
The character of a group (b) Development of a group (c) Interrelation relationship of a group (d) All these Courtesy : Shooting stars, Nauman. __________________ The I you have always known, the I who is a stranger still. Following 7 Users Say Thank You to Last Island for this useful Post: diya chauhan (Friday, 2012 March), mariyum khan (Wednesday
January 18, 2017), mmawaqar (Thursday January 26, 2017), MoonSaghar (Monday, January 14, 2013), MorningLark (Tuesday January 13, 2015), multithink November 19, 2012), Nosheen Malik (Saturday, June 03, 2017) Monday, July 09, 2012 Junior Member Go Date: Jun 2012 Post: 22 Thank you: 27 Thanked 13 Times in 7 Posts In my opinion the
correct answer for MCQ (xii) in 2011 paper is 'a' i.e Good physical working conditions. Would you please confirm that? Greetings. _________________ To what heights I can't rise. The following 3 users say thanks to Naila K for this useful post: Monday, July 09, 2012 Royal Queen of Literature Join Date: May 2005 Location: Forest of Fallen Stars Post: 7,576
Thank you: 2,421 Thanked 15,828 Times in 5,001 Posts Quote: Originally Posted by Naila K In my opinion the correct answer for MCQ (xii) in 2011 paper is 'a' i.e Good physical working conditions. Would you please confirm that? Greetings. Mayo's study was intended to observe the effects of environmental changes on workers' productivity and it was
conducted at the Hawthorne factory of the Western Electricity Company (hence, the observer effect is sometimes called the Hawthorne Effect). The Hawthorne effect refers to a phenomenon believed to occur when people observed during a research study temporarily change their behavior or performance (this can also be called demand characteristics).
Others have broadened the definition to mean that people's behavior and performance change after any new or increased attention. The Hawthorne studies have had a dramatic effect on the management of organizations and understanding of the effects of various factors in the workplace. _________________ I you have always known, the I who is a
stranger still. The following 3 users say Thank you to Last Island for this useful post: Tuesday, July 10, 2012 Junior Member Join Date: Jun 2012 Post: 22 Thanks: 27 Thanked 13 Times in 7 Posts Each time a certain environmental factor was changed, Mayo measured any resulting changes in worker productivity over time. But what Mayo discovered was
that, no matter what the environmental conditions, worker productivity always seemed to increase... At least two possible explanations could be used to explain this: 1. That environmental conditions make little difference to people's working path. 2. The presence of the observer (and the knowledge they were guarded by) changed the behaviour of workers...
Last Island: You are very right. Thank you for your concern _______________ To what heights I can not rise. The following 3 users say thank you to Naila K for this useful post: Wednesday, November 21, 2012 Royal Queen of Literature Join Date: May 2005 Location: Forest of Fallen Stars Post: 7576 Thank you: 2,421 Thanked 15,828 Times in 5,001 Posts
Quote: Originally Posted by sonia5 Hello, I have some confusion about the following issue in 2011's paper. (xx) group dynamics means: (a) The nature of a group (b) the development of a group (c) Interrelation to a group (d) all of the To me, (a) seems to be the right option. Can you explain why (c) is correct. Group dynamics refers to the relationships
between learners in a group and the impact that this has on how they work. Group dynamics refers to a system of behaviors and psychological processes that occur within a social group (intragroup dynamics), or between social groups (intergroup dynamics). _________________ I you have always known, the I who is a stranger still. The following 2 users
say Thank you to Last Island for this useful post: Saturday, January 26, 2013 Senior Member Join Date: Sep 2010 Location: Karachi, Pakistan Post: 243 Thank you: 89 Thanked 344 Times in 114 Posts Quote: Originally posted by Last Island Mandatory QUESTION 2001. (8) Which of the following is an essential component of a formal organisation? (A)
Decentralization (B) Formal structure (C) Power (D) Centralization (E) None of these (B) Formal structure is the answer __________________ Living is too difficult at this time. Dying is easy. Let me die. Kristin Cashore The following users say Thank you to Afshan Choudary for this useful post: Nosheen Malik (Saturday, June 03, 2017) Friday, March 01,
2013 Senior Member Join Date: Oct 2010 Location: larkana Posts: 171 Thank you: 49 35 times in 28 posts paper 2000. your answer 11. C in book B. 13.C Book A. 15. A book C 19. D Book A 2001 2. C Book A 4.C Book D 9. B Book E 14.C Book C 16. A book D 19. B BOOK C ___________________ our lives begin to end the day we become silent about
things that matter Martin Luther King Saturday, February 22, 2014 Member Join Date: Oct 2007 Location: Quetta Posts: 51 Thanks: 15 Thanks 87 times in 34 Posts Some corrections: CSS 2002 9. The owners, Employees, Board of Directors or Directors and Culture will constitute the organization's: (a) Internal environment (b) External environment (c) Task
Environment (d) General environment (e) None of these 13. A plan that generally covers an interval of one year or less is: (a) Operational plan (b) Intermediate plan (c) Long range plan (d) Short-range plan (e) None of these CSS 2006 5) A relatively permanent change in behaviour that occurs as a result of experience is known as: a) learning b) lifelong
learning c) experience learning d) organizational learning e)the manager's challenge proposal; members get to check! It would be advisable to select the following options in these MCQs; CSS 2010 (xv) The purpose of the decision tree is: a) decision options (b) cost analysis (c) project coordination (d) time analysis (e) None of these CSS 2011 (viii) Correct
work analysis based on: a) Job description (b) Job specification (c) Both of these (d) None of these While loosemcqs of public administration 2013 are already available on The following 2 users say thank you to MOHIB BALOCH For this useful post: Saturday, June 21, Member Join Date: Mar 2013 Location: Mandi Bahauddin punjab Post: 75 Thanks: 54
Thanked 34 Times in 21 Posts [QUOTE=Last Island;409241]Mandatory Question 2002 4. The dominant role in the development of Scientific Management was played by: (a) Henri Fayol (b) F. W. Taylor (c) Harrington Emerson (d) Frank Gilbreth (e) None of these are the father of scientific management F.W.Taylor. the correct answer is hanri fayol or
f.w.taylor in the above-mentioned MCQ??? __________________ Nasro Min-Allah Wa Fatah-un Qareeb ... The following 3 users say thank you to sidra tarar for this useful post: Saturday, January 02, 2016 Member Go Date: Jan 2015 Location: Lahore Post: 91 Thank you: 133 Thanked 32 Times in 25 Posts [QUOTE=Last Island;409241]Mandatory Question
2002 4. The dominant role in the development of Scientific Management was played by: a) Henri Fayol (b) F. W. Taylor (c) Harrington Emerson (d) Frank Gilbreth (e) None of these are this correct? Shouldn't the answer be F.W.Taylor? ___________________ Cream rises to the top but it makes dead foam! The following user says thank you to IqbalZafa for
this useful post: Nosheen Malik (Saturday, June 03, 2017) 2017)
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